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Q-1. PHYSICS-CHOOSE THE CORRECT ANSWER FROM THE GIVEN OPTIONS

(1) If an electron of charge e moves in a circular orbit of radius r around the nucleus at a frequency f, then what is the
magnetic moment associated with the orbital motion of electron ?

*
T f er®

[A]
[C] Tfe

2

T

Solution: M=

(2) In a d.c. circui

[A] zero

[C] 10hm

Solution:

[

(3) In Young’s dot
fringe will be..
[A] 1072
*
(€] 2x1072

Solution: In di

(4) Which gate ca

[B] = fr°
e

[D] ™ ert

f
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(5) Which type of semiconductor device doesnot need any bias voltage?
[A] photo diode [*B] solar cell
[C] varactor diode [D] transistor

(6) Current of 10 A and 2 A are passed through two wires A and B respectively in opposite directions. If the wire A is
infinity long and length of the wire B is 2 m, the force acting on the conductor B which is situated at 10 cm
distance A will be .......

[A] 87 x 10"N

*
[B] 8% 107N

[C] 4= x 107'N [D] 5% 107°N

Solution: [ = Holls!

2wy



(7) 1. An astronomical telescope has objective and eye- piece lenses of power 0.5 D and 20 D respectively. What
will be its magnifying power?

*
[A] 40 [B] 30
[C] 20 [D] 10
- m = —u = p_F
Solution: £ o
(8) A bar magnet is oscillating in earth’s magnetic field with periodic time T. if a similar magnet with same mass and
volume has magnetic dipole moment, which is 9 times that of this magnet, then the periodic time will be ......

Y * T
2 [B] 3
iz p] T
9 6

Solution: T= |- (B):
ME 3

(9) For L-C-R A.C. circuit resonance frequency is 5000 Hz and frequencies at half power point are 4950 Hz. The Q-

factor is ....
aris ...
*
[A] the elect

[C] positive ;
== ASHADEEP IIT
(12) The work don
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[C] 16 x107%) [D] 3.1x107%]

*
[A] 50
[€] 100
Solution: Af =
(10) The quantity t
[A] Voltage
[C] Current
Solution: &1

(11) In a charged c

Solution: =1

2

(13) A particle having mass m and charge q is at rest. On applying a uniform electric field E on it, it starts moving.
What is the kinetic energy, when it travels a distance x in the direction of force?

[A] qE*x [B] gEx?
*
[C] q°Ex [D] 9Ex
Solution: W=ak
(14) Electric field produced due to an infinity long straight uniformly charged wire at perpendicular distance of 2 cm
is 3 x10%Nc~t. Then linear charge density on the wire is .....

QE
3

*

Al 333{;—" [B] 666 [c] 3.33';—‘: [D] 6.66';—5

Solution: F = 2

™



(15) The atomic mass number of an element is ...............

[A] always smaller than its atomic number. [B] always greater than its atomic number.

* . . [D] greater than its atomic number in some cases and
[c] equal to or greater than its atomic number. .
smaller in other case.

Solution: (C) equal to or greater than its atomic number.

(16) The ionization potential of hydrogen ions P and Q are V,and 1}, respectively. If 1, < ¥} then radi.............

*
[A] 7 =1 [B] > <To

[Cl %= =1 [D] none of these
(17) A diffraction pattern is formed by blue light. If blue light is replaced by yellow light, then .......

[B] the maxima and minima are narrow and more

the pattern d tch .
[A] the pattern does not change crowded.

*  the maxima and minima are broadened and
[C] become distinct.

Solution: (C)

(18) The sun delir
roof of dimei

[A] 0.9 x 1C

[C] 45x1cC
Solution: P
(19) Dimensional
[A] M1L2T

[C]l miL2T
Solution: -
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(21) An electron having 182 eV kinetic energy is moving on a circular path in a magnetic field of 107#T. the speed of
the electron is ......

[D] diffraction pattern disappears.

incident on a

[A] 4x107ms ™t [B] 32 x10** ms™?
*
[c] 8% 10°ms™? [D] 16 x 107ms"t
1
Solution: imvz =182 eV

(22) A domain in a ferromagnetic substance is in the form of cube of side length 2 ym. if is contains
4 x 10*atoms and each atomic dipole has a dipole moment of 16 x 107* Am?,

Then magnetization of the domain s ............. Am™L,

[A] 64 x10*% [B] 3.6 x10*
*

[C] 7.2x10% [D] 8 x10*

Solution: 1.  Total magnetic dipole moment =(magnetic dipole moment of each atom )x(number of atoms)



(23) Which of the following cannot be emitted by radioactive substances during their decay ?

*

[A] Protons [B] neutrinos

[C] Helium nuclei [D] electrons
Solution: protons cannot be emitted by radioactive substances during their decay. (A) protons

(24) The frequency of characteristic X- rays determines...... property of target.
*

[A] atomic number [B] melting point
[C] atomic weight [D] conductivity
(25) The dimentional formula of magnetic flux is .....
*
[A] M*L*T A7 [B] M'L*T2A™*
[C] M~tL*T2At [D] MLiT 247

(26) The photoelectric effect represents that ............

*
[A] light has
[C] proton't

(27) A transparen sed in water,
then it behav
[A] divergel
[C] equilate
(28) Function of r
*
[A] to conve
[C] both (A
(29) In transistor « tance c =100

pF. What wot
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(30) Two wires of equal length and equal diameter and having resistivitiesp, and p, are connected in series. The
equivalent resistivity of the combination is .......

[B] _F1fz_

[A] (o, +p,) o+ 1,

* ptp;

€1 —— [D] /o102

Solution: R=R, +R,

(31) The binding energy per nucleon of 8016is 7.97 MeV and that of 8017 is 7.75 MeV. The energy required to remove

one neutron from g017 s .................. MeV.

[A] 3.52 (8] 3.62

* /
[c] 4.23 [D] 7.86

Solution: energy required to remove one neutron = binding energy of g07 - binding energy of g016 (C) 4.23



(32) An electron and a proton of equal linear momentum enter in the direction perpendicular to uniform magnetic
field. If the radii of their circular paths be r, andr, respectively, then 1: is equal to m, = mass of electron. m_=

T,

mass of proton.

Ol ey

] g

D] e

m,

*

[ct
. _P

Solution: r=77 =

(33) Where should a person stand straight from the pole of a convex mirror of focal length 2.0 m on its axis so that
the image formed become half of his original height ?

[A] —2.60 m [B] —4.0m
[C] -0.5m [*D] -20m

Solution:

(34) Torque actin ind Eis ....

[*A] 900
[C] 45°

Solution: 7 =
(35) Select incorr:
[A] valt —
Amp

*
[c] mho-s
(36) The wavelen

*
[A] 0.001 ni

= ASHADEEP I
(37) In a zener dic 2 electric field
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(38) Half life of radioactive element is 5 min. at the end of 20 min. its .....% quantity is disintegrated.
[A] 6.25 [B] 75

*
[C] 25 [D] 93.75
(39) 1. The carbon resistor has three orange bands. The maximum value of resistance offered by the resistor will

[A] 49.6 kQ [B] 33kQ
[*c] 39.6 kQ [D] 26.4 kQ

Solution: N=3 R=(30+3)x 10% + 20%
Ronax = (33 + 6.6)kQ = 39.6kQ (C) 39.6 kQ



(40) Two wires of same material having lengths and radii in the ratio of 3 : 4 and 3 : 2 respectively, are connected in
parallel with a potential source of 6 V. the ratio of currents flowing through them 1, : 1, = ........

[A] 1:3 [B] 1:2
[*c] 3:1 [D] 2:1
Solution:

Ratio length —' = %

Ratio of radii =

E=%-3
L R,

Ba |

Q-2. CHEMISTRY-CHOOSE THE CORRECT ANSWER FROM THE GIVEN OPTIONS

(41) Which metal can be purified by liquation? [October—2019]

*

[A] Tin [B] Iron
[C] Lead [D] Nickel
(42) Which of the following reaction is true at 252C for given cell? [GUJCET-2011]
Cell: Pt | Bry | E'.r(_aq:I | Cl[_aqj | Cll(aqj | Bt

2Bt(yqy + Clygqy = 2Cl gy + By [B] Brygy +2Clgg) — Clygy + 2By,

[A]

[€] Brygy +Clyggy — 2Brgygy +2Cl g [Pl 2Bi(yq) +2Claq) = By + Clagy)

Solution: Note: above given reaction is actually used in laboratory for identification of Br~, so following
representation can be possible:
Cl(aq:] | Cl2 | Pt|| Pt |B1‘2(J;.:] |B1‘(aq:]

(43) A +Oxygen — B —

Brown paramagnetic Colourlessdiamagnetic
What are A, B, C? [October—-2012]

*
]A%NO,B%NOz,CeNzoz; [B]A%NzO,B%NO,C%NOZ

[C] A->NO;B-> NOZ; C-> N203 [D] A-> Nzo,' B - N204,' C-> N205

(44) The method for converting precipitates in to colloidal particles by stirring them in a dispersion medium in
presence of electrolyte is [GUJCET-2016]

[A] flocculation [B] coagulation

*
[C] peptization [D] emulsification

(45) Which is not innertransition compound? [March—-2009, July-2017]
[A] TiC [B] VC

*

[c] wC [D] SiC
(46) Which metal is mainly present in the impure form in Cu obtained by Bessemerisationprocess ?

[A] S [B] Fe

[C] Pt [*D] (a) and (b)



(47) Which element comes in 5t period of chalcogen group? [October-2016]
*

[A] Se [B] Te
[C] Sb [D] Ar
Solution: Group 16 elements are known as 'Chalcogens' = (a) Se and (b) Te are chalcogens Se: (Ar) 3d10

452 4p* 4t period  Te: (Kr) 4d10 552 5p# 5th period
(48) Which catalyst is used in Ostwald's method? [October—2014]

[A] Pt (20 %) + Rh (80 %) [B] Pt (80 %)+ Rh (20 %)
*
[C] Pt (10 %)+ Rh (90 %) [p] Pt (90 %) +Rh (10 %)
(49) Which product is obtained by partial hydrolysis of XeFg? [October—2014]
[A] XeO3, XeOF,, HF [B] XeOF,, XeO,, HF
*
[C] X803, XeOze, HF [D] XeOF4, XeOze, HF

(50) If electrolysis of aqueous solution of CuSOy is carried out using graphite electrode, then what is the pH of
solution of electrolytic cell? [GUJCET-2011]

[A] pH=14.0 [B] pH=9.0

*
[C] pH=7.0 [D] PH<7.0
Solution: Due to electrolysis of CuSO,4 solution, H' is produced on anode by oxidation of water. @ Solution of
cell is acidic in nature, solution of CuSOy is a salt solution of strong acid and weak base. And pH of acidic solution

is always less than 7.0. @ SopH< 7.0
(51) Which is the real order of basicity of hydrides of elements of Group—15? [October—2014]

[A] NH3< PH3< AsH3< SbH3< BiH3 [B] BiH3< SbH3< AsH3< PH3< NH3
*
[C] NH3>PH3> BiH3> AsH3> SbH; [p] NH3>PH3> AsH3>SbH3> BiHg
(52) Which of the following is the Ore of Cu? [GUJICET-2017]
*
[A] Magnetite [B] Malachite
[C] Calamine [D] Siderite

Solution: CuCO3 - Cu(OH),

(53) A compound is formed of two element "A" and "B". The atoms of element "A" forms face centred cubic close

packing and atoms of "B" occupies all the tetrahedral voids. The formula of compound is........... [March 2018]
*

[A] AB2 [B] ABg

[C] A4B [D] AzB

Solution: Number of A atoms =4
~. Number of tetrahedral voids = 8
~. Total number of B atoms =8
A:B=4:8=1:2>=AB,
(54) At 259C temperature, if for given unknown half-cell has 0.34 Volt potential, then calculate standard reduction
potential for copper: [GUICET-2009]

+ 2+ ’
[A] —0.34 Volt [B] —3.4 Volt

*
[c] +0.34 Volt [D] +3.4 Volt



A 2+ =+
Reaction: Hzr;g}+ Cu (aq) — 2H(aq}+ Cu(S}
latm 1M 1M

. . g % = o _ ;

Oxidation: Hz(g} — ZH[aq} +2e ; E_ =zero

I 2+ - . BmgY _ o

Solution: Reduction: Cug,,+2e —Cuy: E 4= (M
> Egyy = Epy(Cathod)— EJ,(Anode)

. 0.34=E’ ,.  -0.0
Cu“"/Cu
o =2
El 240, =034V

(55) By which of the following reactions, chlorine gas will not be obtained as the product? [March-2011]

A] Oxidation of HCl by MnO B] Oxidation of HCl by KMnO
[A] 2 [B] 4
* . .
Oxidation of KCIO3 by KMnO, [D] By electrolysis of concentrated aqueous solution
[c] of NaCl.
(56) Which of the following oxo—acid is not possible? [GUJCET — 2013]
P
[A] HOCIO, (8] HOFO2
[C] HOBrO; [D] HOIO,

(57) What is the primary and secondary valancy the transition meal ion in ammonium diamminedioxolatocobalt(lIl)
respectively? [March— 2019]

[A] 3,4 [B] 0,4
*
[c] 3.6 [D] 1,6
(58) Which of the following complex does not show optical isomerism? [GUICET-2014]
[A] [Cr(C,04)3)° [B] Cis [Pt(Br),(en),]*
*
[C] [CrClz(NHg)zen]+ [D] [CF(NH3)4SO4] *
(59) Which of the following statements is not applicable to white phosphorus? [October-2015]
[A] Itis highly reactive [B] Itis soluble in non—polar solvent
*
[C] !tis non—poisonous [D] Itis stored in water.

(60) The decomposition reaction of SO,C1, is the first order reaction. It's concentration gets halved in 60 minutes
what is its rate constant value? [July-2017]

*

[A] 0.01155 min™? [B] 0.07676 min~!
[C] 0.7676 mm™! [D] 0.1155 minute™
(61) Reaction 3C10™-> C10™3 + 2C1 occurs in following two steps.
3 o T s o
(i) ClIO™ +ClO” —L1 > CIOj + CI” (Slow step)

K
(ify ClO, +ClO" —2 ClO; +Cl (Fast step)

then the rate of given reaction =......... [GUJCET-2015]

*

[A] Kq[CIOT]? [B] K, [CIO]
[C] K, [ClO,] [C107] [D] K, [c107]3

Solution: K, [ClO7]?



(62) Which chelating ligand is used to remove the excess proportion of copper and iron from body? [March-2016]

*
[A] Carboxy peptidase —A [B] D—penicillamine
[C] DMG [D] Sodium thiosulphate
(63) Which of the following ion is colorless? [March—2016]
*
[A] sc** [8] Ti3*
[C] Mn2* [D] Cu2*

Solution: There are no d—electrons in Sc3*

(64) In which form of complex, the platinum is dissolved in aqua regia? [October-2019]

[A] [Pt(NO3),Cl,] [*B] [PtClg]%~
[C] [Pt(NO3)Cl5]?~ [D] [PtCl4]*~

(65) Which of the following ion will not form coloured aqueous solution? [July—2017]
[A] cu?? [B] Fe3*
[c] T4 [D] Ni%*

(66) Which of the following alloy is not used to make resistance wire? [March-2014]
[*A] Nitinol [B] German silver
[C] Nichrome [D] Cupronickel

(67) Which of the following is a transition element as per the ground state electronic configuration? [GUJCET-2014]
[A] Au [B] He
[c] Cd [D] Zn

(68) According to CFT, which of the following option is appropriate for [FeF6]3‘ complex ion? [March-2014]

*

[A] Ap<pandAg>p [B]A0<p
[C] Ao>p [D] Ao>P
(69) In which emulsion coloured droplets are obtained when oil soluble dye is added to it? [GUJCET-2017]
[A] Cold cream [*B] Milk
[C] Hair cream [D] Cod liver oil

(70) Metals A, B and C has reduction potentials, 0.34 volt, —0.80 volt and —0.46 volt respectively. So give order of
their capacity as reducing agent. [GUJCET-2015]

[A] C>A>B [B] A>B>C

[*C]B>C>A [D] C>B>A
Solution:

Metal (E> ;)Note

B —0.80 Volt Least (EZ ), so strong reducing agent.

C —0.46 volt Moderate (E?. ), so medium reducing agent.

A +0.34 Volt Highest (E? .}, so highest reducing agent.

@ So, order of reducing agentis:B>C>A
@ Metal with less reduction potential (E2, ;) will liberate electrons and easily get oxidized. Hence, it is

strongest reducing agent.



(71) Which electrode is reactive? [October-2016]

[A] Graphite [B] Carbon
*
[C] Platinum [D] Silver
Solution: Graphite, carbon and platinum are inert electrode. @ Silver is reactive electrode. Ag+(aq)
+e D Agis) e (reduction)
Agy — Ag,:_'aq:, .- (oxidation)

(72) Whose elevation in boiling point will be the same as for 0.1 m KNO3? [October-2015]

[A] 0.1 m Urea [B] 0.1 m Potassium sulphate

*
[c] 0.1 m Sodium chloride [D] 0.1 m Aluminium nitrate

(73) Which of the following is not suitable for chemisorption? [March-2013]

*
[A] Itisirreversible [B] Itis multimolecular
[D] There is no noticeable effect of change in
temperature

(74) Which of the following complex ion has least stability? [GUICET-2014]

[C] Depends upon nature of gas

[A] [Co(CN)g]*~ [B] [Co(NH3)gl2*
*
[C] [Co(NH3)gl** [D] [Co(CO)gl*
(75) During electrolysis of aqueous solution of Na,SO,4 using graphite electrode............ [GUICET-2013]
[A] Concentration of Na,SO, decreases [B] Concentration of Na,SO4 remains constant
[*C] Concentration of Na,SOj increases [D] Concentration of Na,;SOy first increases and then
decreases
(76) Which of following oxide is not acidic? [October-2015]
[A] N,03 [B] P4010
*
[C] N2Os [p] Bi20s
(77) 4Cu + 10HNO3—> Cu(NO3), + X + H,0 Mention the substance 'X'. [October—2016]
*
[C] NO [D] N2Os3
Solution: 4Cu(5)+ 10H _\1. Oa(aq) —> 4Cu(NO3)2(aq] + SHEO(” + Nko{g)
ute

(78) 1.234 gm gold is deposited on electrode when 3 ampere current is pass through solution containing Aucl; ions.
So calculate for how long such current should be passed? (Atomic weight of Au =197 gm / mol) [October-2016]

*
A] 20 min. 8 sec. 10 min. 4 sec
[B]
[C] 30 min. 12 sec [D] 10 min. 40 sec
Solution:

In Aucl; Au = (+3)
: 3+ -
s Au(aq:I +3e — Au(sj

So, 3 Fis required for 1 mol Au @ So, 3 F will gives 197 gm Au. So, for 1.234 gm gold
required faraday



1.234x3 _1234x3

*96500coulomb
197 197
. coulomb 1.234x96500x3
@ Time= =
ampere 197x3
=604.47 second =10 minute 4 second

(79) Which of the following isomerism is in [Co(NO3)(NH3)s] CI? [March-2013]
*
[A] lonic isomerism [B] Geometrical isomerism

[C] Linkage isomerism [D] Optical isomerism

(80) The elevation in boiling point of the solution prepared by dissolving 0.6 gram urea to 200 gram water is 0.509C.
What will be the molal elevation constant? [GUJCET-2009]

[A] 10 K kg mole [*B] 10 K kg mole™
[C] 1.0K kg mole [D] 100 K kg mole™1
Solution:
_ATxMxW, 0.5x60x200
7 1000xW  1000x0.6
=10 K kg mole™1

Q-3. BIOLOGY-CHOOSE THE CORRECT ANSWER FROM THE GIVEN OPTIONS

(81) Mendelian recombination is dueto

*
[A] independentassortment [B] Segregation

[C] Mutation [D] Linkage
(82) Name the disease caused by fungi in plants.

[A] Blackrot [B] Turnipmosaic

*
[C] Tobacomosaic [D] Rust
(83) Which process in making of Idli and Dosa is due to LAB ?

*

[A] Condensation [B] Fermentation
[C] Decomposition [D] (B) &(C)both
(84) Algalbloomimpartsadistinctcolourtowaterdueto
" .
- [B] Excretion of
[A] Theirpigments colouredsubstance

[C] Formationofcolouredchemicalsinwaterfacilitatedbyphysiologicaldegradationofalgae (0] I?yb:?glraplﬁc?arlllv?/];lllight
(85) Compressed Natural gas (CNG)is

[A] Propane [*B] Methane

[C] Ethane [D] Butane

(86) If dihybrid cross the F1 heterozygous plants are self fertilized to produce an F2 generation and if offspring are
computed in panettsquare the phenotypic F2 ratio as per Mendel’s independent assortment willyield.
*
[A] 9:7 [B] 9:3:3:1
[C] 9: 6:1 [D] 12:3:1



(87) The forelimbs of higher vertebrates is the example of what ?

[A] Analogousorgans

[C] Connectinglink

*
[B] Homologousorgans

[D] Vestigialorgans

(88) AfterinjectiontheR-lIbacteriaandheatkilledS-llIbacteriaintomices,whatwasobserved?

[A] All mice arelive

[C] Some mice are live, some aredied

(89) The quality of which vitamin is increased by LAB ?

[A] VitaminA
[C] VitaminB
(90) What is the main objective of improved breed ?
[A] Toenhancequality
[C] To increase the amountofoil
(91) What does egg appratus consist of?
*
[A] Egg cell + 2 synergidcells

[C] Threeantipodalcells

%
[B] Allmicearediedduetopneumococcusinjection

[D] Mice are live with the pneumococcusinjection

*
[B] VitaminB12
[D] VitaminC

[B] Toincrease amount ofvitamin

*
[D] Abovethree

[B] Egg cell+ seconadary nuclei

[D] Synergid cell + Secondarynucleus

(92) If diploid female plant and tetrad male plant are crossed then what will be the ploidy of endosperm?

[A] Tetraploid
[C] Diploid

*
[B] Triploid
[D] Pentaploid

(93) Which of the following is a post fertilization event in flowering plants?

[A] Transfer ofpollengrains

[C] Formationofflower

*
[B] Embryodevelopment

[D] Formation of pollengrain

(94) The number of chromosomes in the shoot tip cells of a maize plant is 20. the number of
chromosomes inthemicrosporemothercellsofthesameplantshallbe

[A] 20
[C] 40

[B] 10
[D] 15

(95) How many amino acids are there in A and B sequence of human insulin respectively ?

*
[A] 21,30
[C] 30,20
(96) What is called mobile genetic ?
[A] Plasmid
[C] RNA

[B] 21,51
[D] 31,32

*
[B] Transposons

[D] VNTRs

(97) Which plasmid of Agrobacterium tumefaciens is responsible for forming tumor cell ?

[A] Mi
[C] Te

[B] Ti
[D] ET



(98) Who secretes interferons ?

*
[A] mitochondria [B] viralcell
[C] bacteria [D] protozoa
(99) Banana is propagatedby
*
[A] Tubers [B] Rhizomes
[C] Bulbs [D] Suckers
(100) Ladybird is useful to get rid of what ?
*
[A] Aphid [B] Mosquito
[C] Bollworm [D] Givenall

(101) HowmanyMTPsaredoneineveryyearintheworld?

[A] 40 to45million [B] 40 to50million

*

[c] 45 to50million [D] 40 to 60million
(102) Who is functioned very well as a messenger as well as transporter ?

[A] DNA [B] Nucleotide

*

[c] RNA [D] All of theabove
(103) Insectivores plants are included in .........

[A] producers [B] Consumers

%

[c] A and Bboth [D] none ofabove
(104) While enzyme is used in bacteria to break the membrane ?

[A] Cellulase [B] Lipase

*

[c] Lysozyme [D] Chitinase
(105) How many peptide strands are there in every antibody molecule ?

*
[A] 5 [B] 4
[c] 2 [D] 3

(106) Due to uncontrolled cell division in body which disease occurs ?
*

[A] AIDS [B] cancer

[C] pneumonia [D] malaria

(107) What is explained through Marsupials of Australia ?

*
[A] LocalAdaptiveBranching [B] Continental AdaptiveRadiation

[C] ContemporaneousRadiation [D] None ofthese

(108) Who gave species are relation hypothesis ?
*
[A] Humboldt [B] Whittaker
[C] Raven [D] Mendal
(109) Which of the following is a sedimentary cycle ?
*
[A] Sulphurcycle [B] Nitrogencycle
[C] Oxygencycle [D] Carboncycle



(110) They are third levellUDS.

[A] CopperlUDs [B] SlowlUDs

*

[c] HormonallUDs [D] All of theabove
(111) In cold climate, the animals have short tail, shorter limbs and ears, this is called

*

[A] Allen'sLaw [B] Bergman's

[C] Cope'sLaw [D] Jordan'slaw
(112) Three children in a family have blood types O, AB and B respectively. What as the genotypes of their parents?

*

[A] 1A IBandii [B] liAandliB

[C] IAIA andIB [D] IBIBandIA IA
(113) Protein synthesis is always initiated by which amino acid ?

*

[A] Methionine [B] Lysine

[C] Serine [D] Valise
(114) Malesexhormone-secretionoftestosteroneisdonefromwhichcells?

[A] Gamete cells [B] Sertolicell

*

[C] Interstitial cells [D] None
(115) The important by product of apiculture.

[A] Sugar [B] Medicine

*

[c] Wax [D] Fertilizer
(116) What temperature is kept during denaturization ?

*

[A] 90-95 [B] 80-85

[C] 100-110 [D] 75-80

(117) As we move from the polar region towards the equator, the biodiversity gradually ........

*
[A] Decreases [B] Increases

[C] Increasesanddecreases [D] All thegiven

(118) The maximum growth rate occurs

[A] stationaryphase [B] Senescentphase
*

[C] Lag phase [D] Exponentialphase
(119) Which is the proper transport route of sperm cell?
[A] Gamete cell >Vas deferens - Epididymis >Vasa [B] Gamete cell >Vasa deferens - Epididymis ->Vas

efferentia—> Bulbourethral gland - Urethra—> efferentia=> Urethra - Bulbourethral
Glans penis Gland->Glans penis
*  Gamete cells - Vasa efferentia— Epididymis ->Vas
[c] deferens ->Ureter - Ejaculatory duct—> [D] None of theabove
Bulbourethral gland - Glans penis
(120) Eachovarycreatesovumat............... dayonebyone.
[A] 7 [B] 21

[C] 14 [*D] 28



